SSL.C MODEL EXAMINATION , MARCH - 2021

ME 926 MATHEMATICS - oomauails:
@203y qu3ailes mics:28
mmId
1 2@ @3 5 UOHEMISS 6396EI @21IB(ETTIMIo 1 MIBHIB nilmo
1 6 1 1
2 90" 1 1
3 542 1 1
4 (3,0) 1 1
5 (9,2) 1 1
6 @3 10 UOHE@SS 6398MI B2193{EIMIo 2 MIBH:9@ nil@o .
6 a) 5 1
2
b) 3+10x+2=32 1
7 a) 50° 1
2
b) 130° 1
8 a) 10 1
20 2
1
4
b) o5
9 (x+4)(x—4) 2 2
10 a) (3,-1) 1
2
b) (-31) 1

11 23 @3 20 UOE@ISS 639CMI CaldB(E®IMIo 3 MIBH:3@ nil@o .
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11 32-20 1
a = 4
) 8—5
b) x,=20-4x4=4 1
X;=4+10XxX4=44
12 a) 1 1
b) (x+1)=16 1
x=4-1=3 1
13 mldalil
14 a) 8eav.o 1
b) PCx12=9x8 1
PC = 72 = 6 oav.n
12 1
15 a) AC=5oeav.nl 1
BC=v5"-3’=4 sqv. of 1
4 1
b —_
) 5
16 a) 5eav.ol 1
b) QA=4 oav.o1 , RB=3 oav.01 , SC=5 sav.nl , 1
7+9+7+5=28 oav. 1
17 a) V10—6°=8 oav.on 1
1 2 2
b) §><Jr><6 X8=96 7 coim.oav. 0
18 a) +(3-0/+(4—0)=5 1
b) (50),(-50) 2
19 mldalwil 3
20 1 1

a) §X40=20 al.ov. o

@1 &0 6m O oW al@qigal 20 _1

b
) 21® 0 O O 010 o] 8 OF 40 2 2

21 23@@3 30 UOEMRPSS BICMBI B.aldIB(ETIMYe 4 MIEH9@ afl@o .

SARATH A S, GHS ANCHACHAVADI , MALAPPURAM




21 a) Jo-20_
20—110
b) 10+10x—1=0
0) -1
22 a) x,=1+19x2=39
b) o= ?x(1+39):4oo
¢)  400+20X5=500
23 a) 70°
b) 2x_-BAD=140°
) 2XLADC=40°
24 a) 12,8 or B 20 @RYDHIM aG® ERIS] MVo6U(D>SYo
b) 6210l Aiveo = 10—x , ciell Aiveo = 10+Xx  or any other method
(10+x)(10—x)=84
6,14
25 a) 10x8=80
6X5_ 30
) 50 ~ 80
) 6X3+4X5_38
80 80
26 a) 4
b) p(x)—p(2)=x’-5x+6
9 (x-2)(x-3)
27 mldalol
28 a) 3eau.ol

b) 12X3=36 a1.eav. 01

SARATH A S, GHS ANCHACHAVADI , MALAPPURAM




29 26+21+32+38+45+48
a) =35
6
b) 21,2, 32,38, 45, 48
W Mo = 32+38=35
2
30 a) (0:_5> :(550) or (510) ’(_5:0)
b) 5
9 V(4-0/+(4-0)=432 , AE®EDNAY A 130@TTY .
31 @3 @3 45 UOE@IBS BICBI C@21IB(OTIMIo 5 MDA nll@o .
31 a) 10, 11, 12, 13, 14, 15, 16
b) 1,4,9, 16, .
0 9°=81
d) 82
10°=100
32 a)
HY
3
4
3 D = (3,3) C = (8,3)
2
1
X , , , , : , , , , , : D, ¢
-4 -3 -2 -1 0 3 4 5 6 T 8 9 10
A= (10 B = (6,0)
-1
-2
!FYf

b) MLIIT@]Br0

¢) 5X3=15a..q
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33 mldalwil
34 a) 30°
b) 10 eav.oM
o 60
d) BD=5 eavu.n
AC =103 oav. o
35 a) BP=BQ
~BPQ=60"
b) _~PRQ=60"
¢) PQR=55" , ~QPR=65
36 620
—=20
a) 5
b) 2x20=40
) 2x20=40
37 a) 130°
b) mldalwil
38 a) 2:3
b) 4xax(2rf:4xax(3rf = 4:9
0) 9X16”:36Jr31.5)m>.°]
39 O®o S SHBIOS ag)6No
140 ©d ®oer® 9
150 @3 ™moere 19
160 @3 ™oee 29
170 @3 ™o 38
180 @d ™moee 45
a) 452+ 1_ 93
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150+151

b) > =150.5
) 150.5+3Xx1=153.5
40 a) 4o
b) 2o
2+/300
41 a) 12eav.0
b) x+4
¢ x(x+4)=12X5 or x’+4x=60
(x+2)° =64
PA= Xx=6 oau.a
42 a) (0,0)
b) V(3-07+(4-0/=5
0 (x—0\+(y—0)=25
43 a) @oo=8semv.a1 , 20oo=1560v.0
b) V82 +15°=17 eav. on
¢) aX8X17=136 7 a1.0av. 01
44 a) ayoomoolcd
b) C agomomlam agoom , D ayomosilal Gree.oro) .
) &Yl
~£C+-D=180"
45 a) 3
b) 2
c) 6
d 12
e 4
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